flux

Ax? / 0.9090

A? / 0.9230

100

50

200

Fe2 + Continuum Fit

2
oy 1010 km/s Opep 827 +/~ 175 km/s X pin / #4572 = 0.9090

T T T

3500 4000 4500 5000
Rest A (&)

Fe2 Scale Factor X2 Diagnosis

g, 1010 km/s 0.04561(88) X2 / 4572 = 0.9090
vy e Kmin 7 TO7C

e N L S R —
RMS 10.0 i
B MAD 8.29 n
L +/ 4
\\
L | L L L L | L L L L | L n L L | L L L L | L L L L | L
0.035 0.04 0.045 0.05 0.055 0.06

Fe2 scale factor

Fe2 Velocity Dispersion X2 Diagnosis

oy 137 1658 prior 225Ikm/:s _ -ee0(170) _ szlin / 4572 = 0;9090.
L rm750 RMS 59.1 -
MAD 42.2
L L | L
0 500 1000 1500 2000

Fe2 Dispersion (km/s)



